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Answer ALL questione in Section A.

Three questiens in Section B and only ONE in Section C.




1. (@) In what part of a Eukaryotic cell does DNA replication

(b) What other types of mol
are needed for DN

2. Testudo ephigbum
Complete the table

s

SECTION A Attempt all questions in this Section.

take place?

is one of the specie's of large tortoise.

below to show

KINGDOM
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its classification,

_Chelonia |
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estudinidae !
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ccules apart from nucleotides
A replication to take place.

¢ structure of a cell surface
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; 4 . (a) Cells in the pancreas produce enzymes. These cells are

associated with large amounts of rough endoplasmic

N1 Dnann ? nf

reticulum and golgi bodies. Explain why. (3marks) ks)
: , (b) What does Q10 mean with respect to enzyme reaction? .; (2marks)
5. (a) Small organisms do not need a circulatory system like large
organisms.
Why do large organisms need a circulatory system? (2marks)
(b) Mammals have a double circulation. What does this mean? (2marks)
6. The diagram below shows an inverted s vramid of biomass.
21.0gm-—2 Animal planktons
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¥ s
| g | Pt le i
S
Suggest a reason for this inversion. , {Sunarls)
. Downs syndrome can be couso b0 o n=t.r anolisn. Explain the term
nom-tiehuneten sand deseriys T o I owmy = Thoona syndrome. LSRR
..Two groups of enzymes digest proteins. They are called endopeptidases
and exopeptidases. Explain exactly what these enzymes do. -
< Which group is secreted ﬁrst and why? o {6marks)
' (a) Name the factors that make rialaria a difficult disease to control. {Smarks) 7
“{b) Explain why there is a high risk ef cholera in refugee camps. (Zmarks)
4 1 A L
: : s}
). The table below show the core temperature of two aﬁxrnals at various |
times on a hot sunny day. Animal A was allowedto drink water, )
but animal B was deprived of water.
| Core temperature /°C
o klime of day | Animal | Animal B
LA 9.00 | 36,0 |- 34,8
1200 | 377 | 38,6
15.00 | 392 40,1 *).
24.00 i 35,8 .| 37,0 D
, )|
= (a)(i) Explain why the body temperature of animal A does not rise *
; as high as that of animal B. (2marks)




SECTION B: Answer any THREE question only. (30 Marks)

W= -200kPa iz oo LPa

{a) In which direction would there be a net nrovement of water

molecules. (lrnaric)
(b) Explain what is meant by not meoves ot? {2maris)
5 b I - .
(c) Explain wnat would happen L both o x oL placed in
: ~ (i} Pure water.
[i1) One molar sugar sohation (W=t L) (7maris)
~ 1 15. (&) Name thie follocwing structures in thie symapse - it

intinsic
proteins
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. (1) Structure A
| (ii)  Structure B
. (iiij ~ The contents of structure B.

(b) The arrival of an impulse changes the permeability of the ,
presynaptic membrane, allowing calcivi ions to diffuse in as

shown by the arrows on the diagram. Describe the effect
S caused by this influx of ions. ‘ (2marks)
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(c) Explain fully why structure A is found abundantly in the

presynaptic region.

Suggest why the true total of AIDS cases world wide may be

16. (a)
much higher than reported.

(b) Suggest why condoms are NOT fully cffective at preventing HIV

infection.

(c) What types of advice can you offer as part of an AIDS education

programme.
17. (a) Define the term mutation.

(b) Describe briefiv the types of mutations.

inked recessive condition.
ied on the X chromosoine.

(Bmark:
(2marks
(2marks

(6mark:
(lmark

(4mark

. Work out the genotypes of the

(Smar!

o ~

+ and osmosis afe two main ways by which

. 1
18. {a) Active transpo:
substances move in and out of cel

these processes.

(b) Explain the pait played by
of the following:-

2 .
(i) The uptale of substance from the soil by roots.

{{i) Seleclye réa

of a nephron.

[eH

- active transport and osmosis in cach

bsorption in the proximal convoluted tubule

" Key:
/[___.—7 SIS SO enormal female
& B{E o Djl—ivc o colour blind female
| \ - s normal male
— , - . o colour blind male
= - ';**** — .

N1s. Give two differences between

-
s

(2mar

(4mar.

(4mar
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_“SECTION C: Answer ONE question only. - (15 Marks)

: 19. The diagram below shows the flow of energy through the organisms

at different feeding levels in a habitat.
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(a) What percentage of the solar e o0, on the habitat
is. trapped by the preducers. {1markj
(b} Study ihie diagraza anc 2 . SF ST SHerER
values Srand B
(1) A e e
] By (2marks)

and hawks.

(i) Examine the proportion of their total energy intake used ',
in respiration by the 1st and 3¢ copsumers. Which uses

the greater proportion. Show yeur working. (4marﬁ~:s).
(i) Suggest the explanation for the difference in these
proportion considered in part C{i ) ahove. (4marks)

(iii) There are only five fecdum IC\ cls in Ln% habitat. Suggest
why we can not have a sinth fecding level. ’ (4marls)

"O (a) In a human cell, there aré 46 chr omosomes. Which part of the

cell contain chromosomes. : {1marks)
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(c} In this habitat the 1st consumecrs are shnall invertebrates suchas .
statls eartirworms and-innsects. The I -emisnmers-arfiies T ———




(b) Humans reproduce by sexual reproduction. Suggest two reasons
why human bodies do not grow up to look exactly like either of
their parents. ' X (3marks)

(c) (i) A person’s sex is determined by their sex chromosomes.
Explain wlly it is impossible for identical twins to be a girl
and a boy. (3marks)

(ii) Cloning is an artificial process to produce offsprings which
are genetically identical to their parents. Suggest some of the
potential probleins with reproducing animals by this
method. : : (4marks)

(d) Bome larmers use o cuvE
characteristice of furtues
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